Math 2255, Spring 2017, Quiz 6, April 3 Name: T A

1. [5] In each of the following differential equations, determine intervals
in which solutions are sure to exist.
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2. [10] Determine whether the given functions are linear dependent or
independent. If they are linearly dependent, find a linear relation

among them.
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3. (a)[5] Determine the indicated roots of the glven complex number,
‘ 3

(b)[10] Find the solution of the given initial value problem.

um - _
y y=0; y(0)=0,y(0)=0,y"(0)=-1,

+_{-§I u—t..\r%
> / > =

C

" - -3
(ﬂ) et % ( ) 2

L)) 6M 477 ) = C 6 Ly C_)_Q_ C@SE'L =+ C3€ S,mJ—_C '
/ ’\i't
3(&) (Q/ *‘-( ’“* C;Q COSE{-{-(_CI >e SM;_t
Y9 e+ (% F0) + ((he-fe)erg Lo,

\
\3(0\:C\ ~C’E"+'§.C3 : :j“’):C,-tC-z_.

2
— 9
C\*(z \[%Cg: = Cg—- -@
e, -G A B=5 =
\ 2> 2 C,:—Cz
_Ca _J3 — — AL
Cl - fi-Cg \ '§—C1+ 3('0’)(‘—2‘@(33
2 2
|
C, :“"’g



